














Flower initiation

• Crop load (spur type fruits)
• Light (effect of pruning)
• Nutrition
• Water
• Temperature
• Gravity
• PGSs









يك گل سيب: چپ.دارها برش طولي گل در دانه: راست



يك گل گيلاس : چپ.دارها برش طولي گل در هسته: راست



فرنگييك گل توت: چپ.فرنگي برش طولي گل در توت: راست



يك گل زيتون: چپ. برش طولي گل در زيتون: راست



هاي نر و ماده خرمالوگل: چپ.برش طولي گل در خرمالو : راست



Citrus microcarpaهاي گل: برش طولي گل نر و ماده در مركبات چپ: راست



.هاي ماده كيويگل: چپ.برش طولي گل نر و ماده در كيوي : راست



هاي نر و ماده گردوگل: چپ.برش طولي گل ماده گردو : راست



هاي نر و ماده فندقگل





Labour availability

Availability of land

Availability of facilities and markets

Availability of finance

Availability of research

Pest and diseases



Latitude
Altitude
Large volume of water
Slopes
wind











A peach grower shows a bud that
developed poorly due to inadequate
chilling hours during the 2017 growing
season when Texas fruit crops were
very short on chill hours. (Texas A&M
AgriLife photo by Adam Russell)

Insufficient Chilling



Heat accumulation ‐Degree days or Heat Units‐

Degree days= (M‐10) Χ N

M: mean monthly temp.
N: Number of days in the month



Freezing

Bark, trunk and branch splitting

Sunscald

Sunscald is another type of damage that can occur on trees
as temperatures drop quickly. Much like frost cracks, it
appears on the sunny side of the tree where warm bark
may cause cells just under the bark to break dormancy that
protects them from the cold. Sunset brings a rapid drop in
temperatures, killing these normally dormant cells. Young
trees with thin bark are more susceptible to sunscald.
Damage from sunscald leaves bark with a sunken
appearance where cells have died.

Winter injury: Trunk injuries are a symptom of winter damage,
and they can be an avenue for subsequent disease
development. This occurs frequently with quick periods of
freezing temperatures in the late fall, before the trees have
hardened off for the winter. Once winter injury is present on tree
trunks, pathogens can infect by entering the injured tissues. For
example, black rot, mentioned above, could get its start through
a winter injury canker.



Freezing (tolerant)
Blueberry, currant, raspberry, strawberry, sourcherry, apple

Freezing (intermediate)
Black mulberry, pear, sweet cherry

Freezing (sensitive)
Plums, apricot, peach



Frost
















